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Directions for the next three questions

The phrases given in bold are correct. Which of the phrases
(a), (b), (c) and (d) given below should replace the phrase
NOT given in bold to make the sentence grammatically
meaningful and correct. If the sentence is correct as it is
and there is no correction required (e) as the answer.

1. As part of the Goods and Services Tax (GST) reforms, a
new levy called the GST Compensation Cess have been
introduced to make good apprehended losses to States in
the first five years of GST implementation.

(a) Cess had been introduced

(b) Cess has been introduced

(c) for making good apprehending
(d) apprehend losses to States in the
(e)No correction required

2. Alegal personality is usually defined as a subject vested
with rights and duties. However, within the parameters of

law, it have never been confined to human beings and has

even included idols and companies.

(a) The legal personality is

(b) However, within

(c) it has never been confined
(d) confined to human beings
(e)No correction required

Which of the phrases (a), (b), (c) and (d) given below
should replace the phrase given in bold in the following
sentences to make the sentence

grammatically meaningful and correct. If the sentence
is correct as it is and there is no correction required

(e) as the answer.

3. The biggest challenge India faces have that the
groups perceived to be disadvantage consist of very
larger segment of Indian society, while public policies
are highly limited in scope.

(A) faces is that the

(B) faces are that the

(C) a very large segment

(D) a very larger segment

(a) A and D are correct
(b) B and D are correct
(c) Aand B are correct
(d) Aand C are correct
(e) No correction required

Which of phrases given below each sentence shosc Iﬁ

replace the phrase given in sentence to make the
grammatically correct? If the sentence is correct as it is,
mark 'E' as the answer.

4. Because of his mastery in this field, his suggestions are
wide accepted.

A. are widely accepted

B. widely acceptance

C. have widely accepted

D. have been wide accepted

E. No correction required

5. They felt humiliated because they realised that they had
cheated.

A. have been cheated

B. had been cheated

C. had been cheating

D. were to be cheated

E. No correction required

[9)]

. We don't know how did the thief made an escape.

how the thief did make
how the thief does make
how the thief made

how was the thief made
No correction required

mo o w>

7. Their earnings are such that they find it difficult to make
both ends to meet.

A. to makings both ends meet

to make both ends for meeting

to make both ends meet

for making both ends to meet

No correction required

mooOw

8. The logic of Berlin wall already had been undermined
but when the news came through that the wall itself had
been opened | jumped into a car.

had been undetermined already

had already been undetermined

had been already undetermined

have been undermined already

No improvement

moow>

9. Which of the following sentence is grammatically
correct?

A. The president told an address from the White House
that US intelligence officials tracked al-Zawahiri to a home
in downtown Kabul where he was hiding out with his
family.

B. The president said in an evening address from the
White House that US intelligence officials tracked al-
Zawabhiri to a home in downtown Kabul where he was hid
with his family.

C. The president said on an evening address from the
White House that US intelligence officials tracked al-
Zawahiri to a home in downtown Kabul where he was
hiding out with his family.
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D. The president said in an evening address from the
White House that US intelligence officials tracked al-
Zawabhiri to a home on downtown Kabul where he was
hiding out with his family.

E. All are incorrect

10. Which of the following sentence is grammatically
correct?

1. The United States is saying that Russia was using
Ukraine's biggest nuclear power plant as a "nuclear shield"
by stationing troops there.

2. The United States said Russia was using Ukraine's
biggest nuclear power plant as a "nuclear shield" by
capturing troops there.

3. The United States said Russia was utilising Ukraine's
biggest nuclear power plant as a "nuclear shield" by
stationing troops there.

4. The United States told The Russia was using Ukraine's
biggest nuclear power plant as a "nuclear shield" by
stationing troops there.

5. The United States said Russia was using Ukraine's
biggest nuclear power plant as a "nuclear shield" by
stationing troops there.

11. Find the correctly spelt words.
A. Bachhanalian

B. Bacchaanalian

C. Baachanalian

D. Bacchanalian

E. All are incorrect

12. Find the correctly spelt words.
A. Inoculation

B. Innoculation

C. Inocculation

D. Inocullation

E. All are Incorrect

13. Find the correctly spelt words.
A. Lackadaisicle

B. Lackdaisical

C. Lackadisical

D. Lackadaisical

E. All are Incorrect

14. Find the correctly spelt words.
A. Eflorescence

B. Efllorescence

C. Efflorescence

D. Efflorascence

E. All are Incorrect

15. Find the correctly spelt words.
A. Judicious

B. Cancious

C. Dilicous

D. Gracous

E. All are Incorrect

Some proverbs/idioms are given below together with their
meanings. Choose the correct meaning of proverb/idiom,

If there is no correct meaning given, E (i.e.) ‘Nonec
will be the answer.

16.To leave someone in the lurch

To come to compromise with someone
Constant source of annoyance to someone
To put someone at ease

To desert someone in his difficulties

None of these

mooOw>»

17.To play second fiddle

To be happy, cheerful and healthy

To reduce importance of one's senior

To support the role and view of another person
To do back seat driving

None of these

mo o>

In the earlier days, some long distance trains were ...(1)...
more number of compartments, thus making the train
...(2)... than even the length of platforms. Therefore, the
last compartment usually ...(3)... outside the platform.
Once the person travelling in the last compartment of such
a train could not ...(4)... tea, coffee, snacks or water as he
failed to get on the platform. He remained hungry and
thirsty through out his journey.

18.Solve (1) as per the direction given above
attaching

shunting

travelling

manufacturing

having

mo O W

19.Solve (2) as per the direction given above
bigger

longer

heavier

crowded

shorter

mooOw>»

20.Solve (3) as per the direction given above
crowded

vacated

halted

derailed

collapsed

mooOw>»

21.Solve (4) as per the direction given above
get

offer

eat

drink

sell

mo o>

22.In the following questions choose the word which is the
exact OPPOSITE of the given words.

SUBSERVIENT

A. Aggressive

B. Straightforward
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C. Dignified

D. Supercilious

E. Elementary

23.In the following questions choose the word which is the
exact OPPOSITE of the given words.

EXTRICATE

Manifest

Palpable

Release

Entangle

Confused

moow»

24. In the following the questions choose the word which
best expresses the meaning of the given word.

AUGUST

Common

Ridiculous

Dignified

Petty

Elementry

moow»

25.1n the following the questions choose the word which
best expresses the meaning of the given word.
CANTANKEROUS

Quarrelsome

Rash

Disrespectful

Noisy

Dormant

mooO®»
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Solutions

1. Ans.(b) Sol. GST Compensation Cess has been
introduced to make good apprehended losses to States in
the

2. Ans.(c) Sol. as a subject vested with rights and duties.
However, within the parameters of law, it has never been
confined to

3. Ans.(d) Sol. faces is that the groups perceived to be
disadvantaged consist of a very large segment of Indian
society

4. Ans. (a) are widely accepted

5. Ans.(b) had been cheated

Ans.(c) Sol. how the thief made

Ans.(c) Sol. to make both ends meet

Ans.(b) Sol. had already been undetermined

. Ans.(e) All are incorrect

10. Ans.(e) The United States said Russia was using
Ukraine's biggest nuclear power plant as a "nuclear shield"
by stationing troops there.

©® N o

11. E. Bacchanalian
12. A. Inoculation
13.D. Lackadaisical
14. C. Efflorescence
15. A. Judicious

16. Answer: Option D
17. Answer: Option C

18. Answer: Option E
19. Answer: Option B
20. Answer: Option C
21. Answer: Option A

22. Answer: Option C
23. Answer: Option D
24. Answer: Option C
25. Answer: Option A
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